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DotesTime sun: 03,

R} Exaccise lg.dat {acciva)

Here from the graph Vi, peak to peak = 29.076m + 34.150m = 63.226 mV
dG. =sl _ 1.6569 — 0.1883 =539 4
and G, = slope = 53225 =2323y

Exercisze lg

VoD 1 D 1.8V
IREF 2 0 l5u
Vbias 4 0 0,634V
Vaig 7 0 DC OV

Rs 6 7 50

Ml 5 4 6 0 cmosn W=10u L=5u
M2 521 1 cmosp W=10u L=lu
M3 2 21 1 cmosp W=10u L=lu

.DC V¥sig -1V 1V lnV
.model cmozn nmos Kp=350u wveo=0,45 lambda=0.4 gauma=0.4 phi=l
.model cmosp pmos kp=100u vto=-0.5 lambda=0,35

.0F
.Probe
+End




Tenpocatuze: 27.0

100Kz

10MHz

The 3db frequency from the bode plot is 21.892 MHz which is really close to the one we calculated which
is 21.84 MHz.

Exerciss 11

¥DD 1 0 1.8V

IFEF 2 0 1l5u

Vhias 4 0 0.634V
Vsig 7 0 AC 30.71mV

Rs 6 7 50

Cgs 4 6 25¢

Cgd 4 5 5S¢

Cdb 5 0 1DE

Csb 6 O 10f

CL 5 0 50f

Hl 5 4 6 0 cwosn W=10u L=5u
M2 5211 cuwosp W=10u L=lu
M3 221 1 cuwosp W=10u L=lu

«AC DEC 10 1 le8
.model cmosn nmos kp=350u vto=0.45 lambda=0.4 gamma=0.4 phi=1
+model cmosp pmos kp=l00u vto=-0.5 lombda=0,35

0P
. Probe
+End
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